Exam 1
NAME _____________________________

Math 176, Precalculus, Section 6265



Spring 2007:  Michael Orr 
 
100 points.  Show all work to receive full credit.  You may use a calculator. CHECK YOUR WORK!!!!

1. (20 pts) Given the following functions f(x), g(x), and h(x) as defined by function, graph, and table respectively.
	
	g(x)
	h(x) =
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	x
	y

	
	
	0
	-2

	
	
	-4
	6

	
	
	5
	9

	
	
	1
	-2


Find the following:

	A. Domain of 
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	B. Range of 
[image: image5.wmf]  

g

(

x

)



	G. 
[image: image6.wmf](

)

(4)

hg

+-



	C. 
[image: image7.wmf](3)

f

-



	H. 
[image: image8.wmf](

)

(

)

(

)

5

hgh
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	I. If g(x) is a function, is it one-to-one? Why or why not?


	E. 
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	J. The average rate of change of 
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2. (10 pts) Let 
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	A. 
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	C. Graph the function
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	B. 
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3. (9 pts) The electrical resistance R of a wire varies directly as its length L and inversely as the square of its diameter d.
A. Write an equation that expresses this joint variation.

B. Find the constant of proportionality if a wire 1.2 m long and 0.005 m in diameter has a resistance of 200 ohms.
C. Find the resistance of a wire made of the same material that is 5 m long and has a diameter of 0.012 m.

4.  (8 pts) Given the following function: 
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. Find the inverse of the function.
5. (9 pts) Sketch the graph of the function 
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. Describe the transformations necessary to graph the function 
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. Use the information to graph g(x).
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6. (27 pts) Given the following function: 
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. (Round your answers to 2 decimal places if necessary)
What is the domain? 

What is the range?

What is the vertex? (coordinates)
What is the axis of symmetry? 
Find the x-intercepts and y-intercepts. (coordinates)
Does the graph have a minimum or maximum value? What are the coordinates of the maximum or minimum?

Graph the function. Include a table of points used to construct your graph.
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7.  (8 pts) A ball is thrown downward from a tall building. The distance traveled by the ball in t seconds is 
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, where d is in feet. How long (to the nearest tenth) will it take the ball to fall 274 ft?
8. (9 pts) A rancher with 750 feet of fencing wants to enclose a rectangular area and then divide it into four pens with fencing parallel to one side of the rectangle as shown below.

[image: image25]
A. Find a function that models the total area A(x) of the four pens as a function of x.

B. What is the value of x that gives the maximum area?
C. What is the maximum area?   (don’t forget to use correct units)
( BONUS (total of 10 extra points)  (

The graph of a function is given.
A. Find the domain and range of f.

B. Sketch the graph of f-1.
C. Find the average rate of change between x = 2 and x = 6.
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